CONCORSO PUBBLICO, PER ESAMI, PER LA COPERTURA DI N. 3 POSTI DI ISTRUTTORE .TECNIC
CATEGORIA GIURIDICA C, A TEMPO PIENO E INDETERMINATO,
DI CUI N. 1 POSTO RISERVATO ALLE FF.AA

Qe

PROVA ORALE

TRACCIAN. 1

1) Il Direttore dei Lavori: principali funzioni e compiti. -/
2) Differenza tra Catasto Terreni e Catasto Fabbricati.

3) Cosa si intende per subappalto e subaffidamento dei lavori pubblici?
4) La conferenza dei servizi sincrona e asincrona.

5) Modalita di affidamento diretto dei servizi e delle forniture ai sensi del
D.Lgs. 50/2016.

6) |NFORMAT|CA. In AUTOCAD cosa significa il comando “SPECCHIA™?

7) Il candidato legga il seguente testo in lingua inglese e risponda alle
domande indicando se I’affermazione & vera (T) o falsa (F). |

Around 800 million of people around the world have no access to safe water to drink.
Bottled water is the most popular drink in the US, but many problems come with the drink.
Bottled water is much more expensive than tap water. At the same time, tap water is
safer, and bottled water has a very bad impact on the natural world. A factory usually
needs 3 litres of Water to make 1 litre of bottled water. Also, to make bottles, it is
necessary to burn oil. To make bottled water requires 2,000 times more energy than tap

water requires.
1. Bottled water is healthier than tap water T/F
2. Americans prefer tap water to bottled water T/F

3. The production of bottled water pollutes more and requires more energy than tap

water T/ F
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1) Il CSE: principali funzioni e compiti.

2) Le fasi principali del procedimento espropriativo.

3) Modalita di affidamento diretto dei lavori ai sensi del D.Lgs. 50/2016.
4) Pubblicita ed accesso agli atti pubblici.

5) Consegna dei lavori in via d'urgenza.

6) INFORMATICA. In AUTOCAD cosa si intende per “POLILINEA”?

7) Il candidato legga il seguente testo in lingua inglese e risponda alle
domande indicando se ’affermazione e vera (T) o falsa (F).

Researchers performed an experiment on the Helags Glacier in northern Sweden. They
used a cloth sheet to protect a part of the glacier over the summer, and they said that
the cloth saved at least 3.5 meters in height from melting. The sheet was about one and
a half meters thick, and it was very strong and durable. It blocked the sun and UV
radiation, and it also isolated the ice from warm air. Global warming is causing glaciers

to shrink all over the world, and researchers hope to redo their test on a larger size.

1. Scientists covered part of a glacier with a cloth sheet to protect it from the sun T
/F

2. The cloth sheet was made of a thin-and fragile material T/ F

3. Glaciers are melting everywhere because of global warming T/ F
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1) Collaudi, CRE di un opera pubblica.

2) Descrivere sinteticamente cosa si intende per voltura catastale.
3) Cosa si intende per variante in corso d'opera?

4) Gli organi dellEnte Provincia alla luce dell'attuale ordinamento.
5) Differenza dei contenuti del POS e del PSC.

6) INFORMATICA. In AUTOCAD cosa si intende per “LAYER”?

7) Il candidato legga il seguente testo in lingua inglese e risponda alle
domande indicando se l’affermazione € vera (T) o falsa (F).

Some Americans check their smartphones 96 times a day, or once every 10 minutes. Screen
time additionally creates digital eye strain and can damage eye parts and the ability to
focus. Children are getting more screen time due to the pandemic. Children’s screen time
went from 6 hours to 13 hours a day. Some studies show that too much screen time leads
to lower language and thinking test scores and impacts on sleep, and sleep is important

to the brain’s development and memory.
1. Americans check their e-mails 96 timesinaday T/F
2. Children have more than doubled their screen time because of the pandemic T/ F

3. An excessive use of screens can affect brain development and memory T/F
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1) Differenza tra lavori a misura e lavori a corpo.

2) Descrivere sinteticamente cosa si intende per indennita di esproprio.
3) La sospensione dei lavori: a chi compete e quando si verifica.

4) Le funzioni dell'Ente Provincia alla luce dell'attuale ordinamento.

5) | poteri e i compiti degli Enti proprietari delle strade.

6) INFORMATICA. In AUTOCAD cosa si intende con il comando “OFFSET”?

7) Il candidato legga il seguente testo in lingua inglese e risponda alle
domande indicando se ’affermazione € vera (T) o falsa (F).

UK airlines didn’t reach any of the targets for climate change they had planned. A group
of activists for climate change says that airlines failed to reduce their CO2 production.
Usually, airlines present big targets, talk about them for a couple of years and then the
targets disappear. The airline industry creates seven per cent of the UK's pollution. The
group of activists wants frequent fliers to pay more. Only one airline, EasyJet, met a

target: it cut the amount of fuel an airptane burns by three per cent.

1. UK airlines reached only half of the targets to reduce their impact on climate T/

F
2. UK airlines are responsible for 70% of UK’s pollution T / F

3. Easy Jet reduced the quantity of fuel used to fly its planes T / F



